Nl & 0 & Al A AN A
20209 &= =20l & L EFG |
S BB
HH: d=2E I|§5PE 22X M (22 /2H)
@ 22X 29 (chg:®
SN HE B (BA) - MEAY - BHAS ggi) @(ijf;lﬁ% HRE2
2t 2 XA A 9,161,425 5,554,472 3,606,953
== 1,015,930
o 8,145,495
A=2E X&scts 22X T4 (S22 /22) 9,022,709 5,398,076 3,624,633
== 1,015,930
= 8,006,779
22X 29 1,242,735 1,926,594 A\ 683,859
22X 22 2 29 694,478 785,866 AN 91,388
201 282 A Y| 613,478 628,866 AN 15,388
01 Ar&2te2ldl 123,784 122,464 1,320
= 0l & 123,784 122,464 1,320
OZZ X AAZ 22 e
440,000 x12& 5,280
O M2 M 350& *x20, 000 0H 7,000
o= 9 M 100, 000& *400H 4,000
O=8 Y2tE L oL X
100,000& *2& x103] 2,000
oUEA W AM SN ME
70& *100,0000H 7,000
oM F¢ 6,000& 110 *12& 7,920
O&=J ¥ HlU d&=z 212,000& 128 2,544
o=J ¥ JIz2J] 7 10,000& = 1004 1,000
ok EIIE =52 4,000,000 x12& 48,000
oA A =2 100,000& *4E x13] 400
o2&k 8 AREE F2¢
30,000& 105 x12& 3,600
OEQAIAE 29 Z  110,000& 17 A x12& 22,440
OF M L A2 Aot SSHS
750,000 x12& 9,000
O H MHA 292 300,000& x12& 3,600
02 =324l 489,694 506,402 N 16,708
= 0l & 489,694 506,402 N 16,708
(OFSPIETE=: 260,000
OAAIF=H 2 2 1500
26,000,000& =10& 260,000
oOMdxER2 14,000,000 x10& 140,000
OX3g L MEJNH = 1,300,000& =12& 15,600
oRERZ 1,474
OS99l 2,180& *x20S 122 524
oes 380& *2,500= 950




SN

HE: U2 NYots BBA IH(SHUBZ/2D)
Sl BBA 2 (2@
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
OZLANEE 2Y 42 80
OLEBIE HANALY S2UY 24
2 30,0002 +6 180
oxg KXl 2,400
Or8s8 2,000,000 *1CH 2,000
ool &t 300, 0002 *1H 300
OoEX 2HE 10,0002 * 1H 100
ozZgxYy R 600, 0002 * 122 7,200
ON&ZY S| 1,400,0002 103! 14,000
OCCTV % LEDEZE RX 22l
350,0002! * 1231 4,200
OYAANLE 2 42 44,640
ORIINIIA g 7,500, 0008 *43] 30,000
OZEANAE SXE2 70,0002 1004 *62 4,200
OREAIT HFAAY MEE
1,200, 0002 +6 2 7,200
OYIA LHAAY D208 X2+
500,000%! 62 3,000
ORH3JIE S| SURS 20,0008 63 120
OOI¥E €I LR 20,0008 +62 120
203 Y=Y 4,000 4,000 0
03 AZZFARETH 4,000 4,000 0
= 0 & 4,000 4,000 0
OLHEBTX B2 AM =X
20,0002 *10% *103] 2,000
OVZNZEN &2 FZ 20,0008 %10 103 2,000
01 YHPEI 77,000 153,000 A76,000
12 JEEN3 77,000 153,000 A76,000
= 0 4 77,000 153,000 A76,000
OFXE NH 4EA 7
25,000CH 3,002 75,000
OBFA R AMEIE X2 2,000
HoAE 29 B2 548,257 1,140,728 A592,471
101 Q124 253,107 372,228 A119,121
04 JIAH2ERNS24 253,107 372,228 A119, 121
=0 4 253,107 372,228 A119,121
OmoNE 2y Y 60,921
oJ=a 68,7202 1802 +32 37,109
OF& 2 GX4Z 68,7202 +482 «3 9,896
ORY224Y 68,7208+ 5+452 +3 13,916




S BEXAMYL
Ha: URE NFos DTN IH(BHUAY/BT)
ool BBR 2 CERE
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
OFY HAZER ALY 68,446
oJea 68,7202 702 * 122 57,725
OFf L GIR4T  68,720+13Y+12% 10,721
0+YT L H4I| 2Y ARY 96,835
oJea 68,7202 x40 +20% 54,976
OBL2R4Y 68,7202 +1.5+122 +20% 24,740
OFH L GR4T  68,7208+112+20% 15,119
Om=ZH (22X RUSB) 10,0002 «20% 2,000
CEREA= 224,202,0002! * 12% 26,905
201 Qg2 127,250 69,800 57,450
01 AtR2lH| 62,900 26,900 36,000
=0l 4 62,900 26,900 36,000
OEIHZES) BZ 10,000,000 *3CH 30,000
OYYANE 2% A2EE Y
2,000 %435 %507} *47H & 1,600
OHH 2% AR8E 7Y
300,0002! +8 *43l 9,600
OHA& PR M| 50,0002 *103] 1,500
OOIEE 2% A28 Y
160,000% %205 3,200
OOAEN BUS(2SEN) NN
100! 30, 00004 3,000
OPOSZEEBX (F43) 7Y
2,000 +1,500% 3,000
OOIIZEE o%4E 2 WE 7
625,000% *43 +23] 5,000
OFYI (2 KA L2
1,000,000% %63 6,000
02 Zz2Hl 64,350 42,900 21,450
=004 64,350 42,900 21,450
OE3 X2l 6,000,0002 *3CH 23l 36,000
OEZI REH
1,400 #2.5km+63] 1.5 *3CH 3002 28,350
206 T2 1,200 0 1,200
01 M=l 1,200 0 1,200
=04 1,200 0 1,200
OAZ HANE A2E DI L 7Y
200,0002! <671 2 1,200
301 LetEE3 1,700 1,700 0
09 BAMHIXIRZ 1,700 1,700 0
=004 1,700 1,700 0




SN

B URE Mol DRI FA(2HYDB/BE)
Sl BBN 2 (2@
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
OJAH22R HEX At
50,000& 17 % 23] 1,700
401 A EHIZL R0 110,000 82,000 28,000
01 A&l 110,000 82,000 28,000
= 0l & 110,000 82,000 28,000
OBOIAA Y- sl 24+TA
1,000, 000& «10CH 10,000
OLHEBBN +R4 BLTA
10,000, 000& *37H 2 30,000
OOA=E N4 B3 A 20,000
OERIHBEYR) AHAA L 22IH|
10,000,000 *3CH 30,000
OBUAIL(RA) 24 - HYl
4,000,000 «5J4 2~ 20,000
405  XHAHFESHI 55,000 615,000 A560,000
01 MM EZSHSHI 55,000 615,000 560,000
= 0l & 55,000 615,000 A560,000
OReAHIXED 2 25,000,000& = 1CH 25,000
O=ZJtE +Y 15,000,000 = 1CH 15,000
OBOAANY X X FI| 7 15,000
HAH Y OIBIE DR 60,000 210,000 A 150,000
SSAMN HEEA & FAZA =2 ME A EX 10,000 10,000 0
307 oA 10,000 10,000 0
04 QIZTAAHE X 10,000 10,000 0
= 0l & 10,000 10,000 0
O=SA MEEA BX 5,000
OATR HABY F2 HY 2X 5,000
getz2ZdX DS AE OIME JHE 50,000 100,000 A 50,000
201  ZEr2dH 50,000 100,000 A 50,000
03 A2 50,000 100,000 A 50,000
= 0l & 50,000 100,000 A 50,000
OBE XS BHE 2Y 50,000
S0 NF & 2e 4,384,000 1,210,000 3,174,000
SOOI JEALH I} 10,000 10,000 0
401 AMEHIZLR0Y 10,000 10,000 0
01 Al&Hl 10,000 10,000 0
= 0l & 10,000 10,000 0
OESII2 AYMN BI BY 10,000




SN

M3 URE MBS VI XH(SHLVL/BD)
Selr B0 NV Y el (B9 @2
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES = T BlRE2
UAT A KR 4,374,000 1,200,000 3, 174,000
306 &3 4,374,000 1,200,000 3,174,000
01 E=oi3 4,374,000 1,200,000 3,174,000
=0 & 4,374,000 1,200,000 3, 174,000
02020 FLDEBENAHAAT £33 4,374,000
2N BV 670,676 688,252 A17,576
2N BAMWA 534,892 572,468 37,576
101 Q124 194,192 262,628 68,436
04 JINH2ERSR % 194,192 262,628 68,436
=0 & 194,192 262,628 68,436
ozZyoel L Iy o=y 69, 147
0J=3 78,0008 #1802 3% 42,120
OF& o X4 78,0008 +482 +3 11,232
OFY224Y 78,0008+ 5+452 +3% 15,795
003 U HTA B2 Y 60,921
oJlea 68,7202 *1802 3% 37,109
OFF & X4 68,7202 x482 x3% 9,896
OFYL2R4Y 68,7202+ 5+452 +3% 13,916
OFF(XY)NY Y
160,756 % *82 *33] +52 20,371
OIFIZY AIRY 52,0198 +102 x35] 62 27,364
CEETT=F 130,068, 0002 *12% 15,609
o =] 130,000% +6% 780
201 Yer2 gyl 90,200 89,420 780
01 At el 43,520 43, 160 360
=0 & 43,520 43,160 360
OZTZHIM ABE 7Y
120,000 *197H A 122 27,360
OFA U HYTR Y
25,0002 ¥ 155 +122 4,500
oryI 25 2 5502 * 14, 0000 7,700
OBAI/H AZ I PY
30,0008 *11Z+123] 3,960
02 ISl 46,680 46,260 420
= 0l 4t 46,680 46,260 420
OHAE L MAT ALZH Sl
250,000 *9H 4 2,250
OSHA &Y RX24 S
740,0002! 128 8,880




SN BBIALY L
Hal: A2S Nos DX F&(SALAY/2Y)
ool BBX BB CERE
x s . Of &t o8 & & 0 A o -
SN -3 -S(3) - NRA - BES (Z= o) (713 o) HnsZ
OBATHIIY R 6,400
OPS 5-2— 2,000,000 2CH 4,000
Oa 43t 2,000,000 * 1CH 2,000
ool 300,000%!*1CH 300
OolEx 282 100,000+ 1TH 100
OBYFHl Ul R B2IHl 550,008 55 2,750
OSASMYI| 2N 242
2002 +3,5002] E1 » 122 8,400
OLIZHIIE 42 448
15021 * 10, 000kg* 122 18,000
206 THEHI 129,000 98,920 30,080
01 M2 129,000 98,920 30,080
=00 & 129,000 98,920 30,080
OAZ BT A2IHE 25F 7Y 80,000
OBTA U 25 += DM ¥ 7 30,000
OZ3R MSSUH 2 &45H 7
10,0008 *5% *103] 5,000
OSlbl 2 B2 PY 30,000 *200 2 6,000
OMZERYS 25 HE 7Y
50,0008 * 105 *43] 2,000
OOIM3Z 2AR X318 7 6,000
307 eI20lH 60,000 60,000 0
05 QI2A9er3 60,000 60,000 0
=004 60,000 60,000 0
oxsmel 9 89 5,000,0002! 122 60,000
401 AEBILRHE 60,000 60,000 0
01 Al 60,000 60,000 0
=004 60,000 60,000 0
OBBHTH B2BN 20,000
OBTX I BA 40,000
405  HaHESHI 1,500 1,500 0
01 XAUSEHSH 1,500 1,500 0
=004 1,500 1,500 0
osAFH Il P
500,0008* L2 ®FI| S 35 1,500
IEUASE 2Y 135,784 115,784 20,000
201 sty 44,784 44,784 0
01 A2t 2,400 2,400 0
20l o 2,400 2,400 0




SA X AE A
Hz: 225 X &ols 22X X4 (L2 /2H)
Chel: 22X sF e (e &
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
oxgs7 7Y 12,0002 x10E *20H 2,400
02 =249l 42,384 42,384 0
= 0l & 42,384 42,384 0
ousts 78 #¢ 1,400& *200L* 140 39,200
O A& &Hl X4 2,800& *1,137m* 3,184
206 M Z&H] 81,000 61,000 20,000
01 T4l 81,000 61,000 20,000
= 0l & 81,000 61,000 20,000
OBAANZE 7Y 75,000
OoBAaE =38 30,000
OLXAZ WHMAZ 10,000
OuMMAZ DHMAS 10,000
Ootgth niMa2 15,000
Oslesd BHAZ 10,000
OEH ¥ & 2! 15,000 x2E 50 % 1,500
odgdis LM 2 20,000 x7&x 154 2,100
oA ZMEEe LM L Hzs #¢
12,000& x4 Z 502 2,400
401 AIEHIZ20i4] 10,000 10,000 0
01 Al&H] 10,000 10,000 0
= Ol & 10,000 10,000 0
SELICH A2 AMENA 10,000
OSEUet AE2E AlE B3 Al 10,000
2 X A2 Y DJJBEAIE 22| 1,665,298 1,363,230 302,068
== 15,930
= 1,649,368
HAIZE 2922 547,208 629,408 N 82,200
201 A E2AH| 86,808 78,608 8,200
01 Ar®2teltl 10,000 10,000 0
= 0l & 10,000 10,000 0
OdAZ22HE 25 7¢
150, 000& *109H A *23] 3,000
OFH& & 9 200,000 53] 1,000
OXAAIEt= 2 BHH A S 6,000,000& * 14! 6,000
02 =524t 76,808 68,608 8,200
= Ol & 76,808 68,608 8,200
OFH& 2D 26 WA
115,500 36 13| 4,158




SN

g é%% XN&ote 223X 24 (St 2z/22)
SRl 2HX A2 E DAL 2el (=&
) - - 0l &k 2 H A 0 A o ~
SN BB (3H) - MY - B e i HRE 2
OF M2 HHHI A2 & J|
7,500,000& x 14! 7,500
oduI |RFH 1,400& »4,500L+3& 18,900
OXHA HLHHI] 2o FH
7,500,000& 14! 7,500
O2=xold A2 =2
1,200,000& =122 14,400
O2sx=Held ot 300, 000& 55 23| 3,000
O2L=HMad 22l MAE L WA 10,000
O2+HMel =8 450,000& *33] 1,350
OAAZFHZ A2 AHEEH 10,000
206 M= 4l 40,400 50,800 A 10,400
01 M=l 40,400 50,800 A 10,400
= Ofl &F 40,400 50,800 A 10,400
O&AE 2Z2 224 HE ¢
500,000& x12& 6,000
OZZX HMAIZ Z2HH HZ 2o 34,400
O4DZ & 2t 4,500,000 x2CH 13 9,000
QA AT FH & 550, 000& *2H »2CH 2,200
OXAA = 2 500,000& »2J1 x2CH 2,000
Ot & 2t 550,000 *2Jl »23] 2,200
Oz )gdaa 1,000,000 27 6 CH 12,000
Ogtgt=gXt=st4 2 500,000 204 «7CH 7,000
401 AEHIZ=ROYI 420,000 500,000 A80,000
01 Al&Hl 420,000 500,000 280,000
= 0l & 420,000 500,000 A80,000
O& A2 HHHI| ZHISA
1,000,000 «40H 40,000
OXA2 AIAE FHISA 30,000
OREAZE B3 AM 150,000
OStA 2240 A 2L S A 150,000
ONSHME 2 HBAMANE B 50,000
getmatZ X JIBtAIE EHI 1,064,990 733,822 331,168
201  LEL2H 118,680 104,012 14,668
01 AtR2Zeldl 93,700 81,622 12,078
= Ofl &F 93,700 81,622 12,078
Oo&JIot&2e |t =2
1,500,000 *30 & +123 54,000
OXINE HIILHI (8t /LH) M2
850, 000& *100H & 8,500




SN

B URE NEols DRI FA(2HYDB/BE)
Soln BBX MAIZ L OJIBAIL B CERE
x s . Of &t o8 & & 0 A o -
SN -3 -S(3) - NRA - BES (Z= o) (713 o) HnsZ
05l KN L BAL2E
2500002 * 1074 £ +122 30,000
OB HIIZAM £4E  120,0002 #1042 1,200
02 BZSYH| 24,980 22,390 2,590
=0 & 24,980 22,390 2,590
oblagEI |X 2 800, 0002 *4CH 3,200
OnY LEuE A 22
1,000, 000! #4H 2 4,000
OBTAU I}2S ZAS RN 22
40,000 +289+1/23] 5,780
OZESH L HOE FAXY KX 22
35,0002 *100m+27H £ 7,000
OOYE =9 FILHY SXBe
100,000 %5074 £ 5,000
206 T2 93,310 84,810 8,500
01 M 93,310 84,810 8,500
=00 & 93,310 84,810 8,500
oYL MK P 20,0008 x255 #5004 £ 25,000
OJ2S ZRES LED AE 7Y
80,0002 28974 1/23] 11,560
ONS HBNHI 222 A
750,000% x25 %974 2 +1/23] 6,750
ONEE2EY 7Y 5,0002 +2007H * 122 12,000
OFAIR LED I T 110,000 %2504 27,500
o44els BP L I =) Y
600,000 *5% 3,000
OFVZY LED HI 7Y
100, 0002 * 1507 *1/23] 7,500
401 AEHILRHY 853,000 545,000 308,000
01 Al&tHI 848,000 545,000 303,000
=0 & 848,000 545,000 303,000
CEE=R:EPYPE 595,000
OBBAU IHTMBA 30,000
OBBFXZE ST FH| 40,000
OMBA 28 T U SHYLTA 50,000
OSWAREM 2 P4 10,000
OYYTAZN HEY DY HAZMT
A 20,000
OggZagx 22D 20,000
OYSTHC~2HFAIR QA2 DH T
A 50,000
O=0lH =027 S B A 20,000
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FA 2EXAMS 2

Bu: USE NESs DRI ZL(SIUTDE/BH)
o BDBX FAID YL JIBAL B CER-E
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
gagaaal ST EE AIAE &X 53,100 0 53,100
= 15,930
= 37,170
401 AI&BIZ =208 53,100 0 53,100
= 15,930
= 37,170
01 Al&HI 53,100 0 53,100
= 15,930
= 37,170
= 0l & 53,100 0 53,100
& 15,930
i 37,170
oge X ST X ANAE &X 53,100
= 15,930
= 37,170
22X =4 1,000,000 0 1,000,000
= 1,000,000
O ARVRMIEEXZE ALY 1,000,000 0 1,000,000
= 1,000,000
401 A&ZHIZ=20bI 1,000,000 0 1,000,000
= 1,000,000
01 Al&HI 1,000,000 0 1,000,000
= 1,000,000
= Ol & 1,000,000 0 1,000,000
= 1,000,000
OC L ARVRMEZE ZHAMY 1,000,000
= 1,000,000
HEY2H AUl (IIEH/IIE) 138,716 156,396 A 17,680
Jl2 B3l (22 XA A) 138,716 156,396 A 17,680
HEFXFH| 3,000 11,500 A 8,500
203 YRF=AHl 3,000 3,000 0
04 BEN2IEARFAHI 3,000 3,000 0
= 0l & 3,000 3,000 0
ORNM2Z HdR2F&HI 250,000& 123 3,000
2 B2 A 82,556 78,116 4,440
201  et2g| 82,556 78,116 4,440

_11_




BA XA &
FH: #HH2AZH (JIEH/IIE
el D23 (22X AE L) (=&
) - - 0l &k 2 H A 0 A o ~
SN BB (3H) - MY - B e i HRE 2
01 AFR2Zeldl 82,556 78,116 4,440
= Ofl &F 82,556 78,116 4,440
ORAM2Z JI2s+8Hl 31,000
o2d+< 43,500
O=2tl 50,0003 x2H 366 36,600
O At 50,0003 2% 692 6,900
O= &l 3,456
o1l =l 100,000& »23% *23| 4,600
04l 53,160 66,780 A 13,620
202 o4l 53,160 66,780 A 13,620
01 2L 53,160 66,780 A 13,620
= Ofl & 59,400 66,780 A7,380
OJI2g =0 200,000& 15 «12& 36,000
O=UH=&E0HI 65,0003 x15F «12& 11,700
OZELEdSEANAE EEXY
65,0003 »15% «32| x4 & 11,700
S H =01 AB,240 59,400 A 65,640
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